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)

2)

3)

. .2543

Qnet 2000

321

3.21.1

(Root Mean Square Error : RMSE)
Absolute Percentage Error : MAPE)

Deviation : MAD)

. .2546

38

. .2547

(Mean

(Mean Absolute



3.2.1.2
(Fixed
interval model) (Fixed order quantity model)
1) (Fixed Order Interval Model)
4
- ()=24
- 1 ()=12
- 1 ()=8
- 2 ()=6
1 15
16
4 . .2547
Q)
Q= -O+LTD+
0 (On hand)
LTD (Lead Time Demand)
(Safety Stock)
2) (Fixed Order Quantity Model)

EOQ

39

order
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EOQ (Q*) = V 2DCO0/Ch

Co (Ordering Cost)
Ch -CxH
C
H
ROP  (Re-
Order Paint) ROP
ROP = LTD + SS; LTD < Q*
ROP
ROP = [LTD + ] modulo Q* ; LTD > Q*
LTD
Q*
Q%) (ROP)
. .2547
? (Safety stock : )
90

z (ctdVit/r)

ss ZcfDV(LT + T)/R

crD

VS(D,-D)2/ -1
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Z
90 Z = 1282
1)
1
1]
R
LT
-
?
1) (Holding Cost)
= S[(Ch/ N) X ]
Ch
N 1 (360 )
2) (Ordering Cost)
COX - CO
3 (Stockout Rate)

( , 2547)
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3.2.2.1

. . 2547

(%) =

(Back Order)

. .2543

. .2546

1

x 100
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)

2)

3)

2
3
3
(Input Layer)
1
3, 6, 12, 18 24
LMl m2
=3, 6, 12, 18, 24

(Hidden Layer)

(Output Layer)

1+2
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)

2)

3

1

(Input Layer)

2
3, 6 9
Dyllrm.l 1 Dyllm2 ........ Dy11 ,Dydmtl 1 yIm2 ........ yJ
T <12, T>12 Dy.11 T =12+ yl
DyJ y T
y
T 1
y-1 y

i 12

2 3

=3,6,9 6, 12, 18
(Hidden Layer)
1 2
1
(Output Layer)
1
1 1 Y2
(Input Layer)
3
3, 6 9



- Vo, TmHll yilme....... Dy111 Dyl31l. ylm+l, ylm2........ yJ
T+l < 12, T+1 >12 Y1+ T+l = 12+i Vi
y¥ y T
T 1
y-1
i 12
2 +1 3
=3,6,9 7, 13, 19
2) (Hidden Layer)
1 2
1
3) (Output Layer)
1
1 1 DyJ+2
(Learning rate)
0.0-10 (Momentum) a 0.8

- (Network training) :

. .2543 . .2546

- (Cross training) :
20 Qnet 2000 (1999)

10

45



- (Network testing)

. .2547
31
31
3 37 7
6 34 7
1 12 29 6
18 24 5
24 19 4
6 27 5
2 12 24 5
18 22 4
7 27 5
3 13 24 5
19 22 4
. .2543-2546
3
. .2547
. .2547 3
(Root Mean Square Error :
RMSE) (Mean Absolute Percentage Error :

MAPE) (Mean Absolute Deviation : MAD)



3.2.2.2

3.2,3

16

12

47

15
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? ?
4
4
( =24) 1
( =12) 1 ( =8)
2 ( =6)
1 1 2 1
( 1)
1 ( =24)
1.1) (Input Layer)
() (0) t
q
L, M2, 0
2 +1
25 ( 12)+1 13 g 1
1.2) (Hidden Layer)
1 2
1
1.3) (Output Layer)
1
1 0,43
2) ( =12)
2.1) (Input Layer)
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2.2)

2.3)

3)

3.1)

3.2)

3.3)

(9 ' (C9
q
lvir Mz 111 0q

2 +1
( 12)+1 7 ; 1
(Hidden Layer)
1 2
1
(Output Layer)
1 Qt+2
(:=8)
(Input Layer)
(2
q
1Im+1l Dtm21 1 11 0gq
2 +1
( 12)+1 5 ; 1
(Hidden Layer)
1 2

(Output Layer)

49

(0a)



4)

4.2)

4.3)

(Input Layer)

q

DtmHl1 ,.me2

( 12)+1 4

(Hidden Layer)

(Output Layer)

.2546

(Cross training) :

20

.2547

(DY)

eeripd ., 10q

Qt+l

Qt+l

(Network training) :

(Network

testing)

50

1
(Ca) t
+1 7
2
1
.2543
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.2543
.2546
3.2
3.2
1 ()
=24 25 38 8
) 13 48 10
=12 13 19 4
1 ) 7 24 5
=8 9 13 3
1 ) 5 17 3
=6 7 10 2
2 ) 4 12 3

.2543-2546

.2547

.2547
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